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Year 3 Autumn Maths Block
Assessments:
Multiplication and Division (A)

- Write 2 multiplication and 2 division sentences to match the
array.

4 N\ 4 N\
. J J
4 N\ 4 \
g J y, 4 marks

.(now 2x, 5x and 10x tables: Find the missing numbers.

7x2= D
18 + D:9
s (O
)
55+5= D

100 + [3210 6 marks

-<now 3x and 4x tables: Find the missing numbers.

[

0= 80
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Year 3 Autumn Maths Block
Assessments:
Multiplication and Division (A)

.Know 3x and 4x tables: Find the missing numbers (continued).

( Jss=m
48 = D=12

.ind the answers, don’t forget the remainders!
11+2=
13+5=
22+3=
63+10=
30+4-=

48 + 5=

.)ouble these numbers:

MY
23

18

34

46

.—Ialve these numbers:

)

18 | )
44
26

38

6 marks

6 marks

4 marks

4 marks

Total
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